=g KIBIEKEE

= o yE
e = REZEHEDR
EE& H#E(E TIRiE 18 64 18 8H 108 128
- K K K Ak K
- 2021/4/19 2021/6/10 2021/8/3 2021/10/21 202171277
- - 10:40 8:45 8:50 8:50 13;53
- - Bh B i B
- - 13.1 214 14.9
- - 12.6 212 182
1 cfu/mL 100 0 0 1 0
2 RS - AR IEH Nid
3 me/L 0.003 0,0003 <0.0003 - <0.0003
74 me/L 0.0005 0.00005 <0.00005 - - - - - - =
5 me/L. 0.0 0.00 <0.00 - - <0.00 <0.00 - <0.00 =
4 me/L. 0.0 0.00 <0.00 - - <0.00 <0.00 - <0.00 =
7 me/L. 0.0 0.00 <0.00 - - <0.00 <0.00 - <0.00 =
"8 me/L 0.0 0 <0.00 - - <0.007 <0.00 - <0.00 -
me/L. 0.04 0,004 <0.004 <0.004 <0.004 <0.004 £0.004 <0.004 £0.004 <0.004
me/L. 0.01 0,001 <0.001 - - <0.001 - - £0.001 -
me/L. 1 0.2 0.75 0.75 0.52 0.72 0.54 0.71 0,62 0,70
me/L 0.8 0.08 0.08 <0.08 <0.08 0.08 <0.08 <0.08 0.08 <0.08
me/L. 1.0 0.1 <01 - - <01 <01 - <01 -
me/L. 0.002 0,0002 <0.0002 - - <0.0002 - - <0.0002 = =
15717 4—‘/7}-:\'—#;; me/L 0,05 0,005 <0.005 - - <0.005 - - <0.005 = =
vA—=1,2—v780TFL2
16|57 k52 —1 o—ShOmT me/L 0.04 0.004 <0.004 <0.004 <0.004
IAPZI=[=FY > L 0.0 0,002 <0.00 - - <0.002 - - <0.00 = = - =
181 7hZ700TF LY L 0.0 0 <0.00 - - <0.00 - - <0.00 = = = =
IRZEnTFLS C 00 ; 00 - E 00 E E 000 - E - E E
= L 0.6 0,06 <0.06 £0.06 0.10 0.08 0.4 0,06 <0.06 <0.06 0,06 £0.06 <0.06
27 1500 gk L. 0.02 0,002 - - <0.002 - - £0.002 - - <0.002 - -
PRl l=1=r N L 0.06 0.008 - - 0.024 - - 0,006 = = 0.005 = =
LD l=]=] 3 L 0,03 05, - - <0.003 - - £0.003 = = <0.003 - -
|2 0E/0044%% L 0.1 01 - - 0.003 - - 0,004 = = 0.003 = =
L 0.01 01 - - 0,001 - - £0.001 = = 0,001 - -
L 0.1 014 = = 0.039 - - 0,019 = = 0.013 - -
i3 L 0,03 004 - - 0.012 - - £0.003 = = 0.003 - -
20ET700i5%, L 0.03 005 - - 0,012 - - 0,008 = = 0.00 = =
JOERILL L 0.0 001 - - 0,001 - - £0.001 = = 0,001 - -
L7 ILVTER L 0.0 0 008 - - <0.008 - - £0.008 = = <0.008 - -
Uz DIEED L 1.0 0.0 01 - - <0.01 <0.01 - 0.01 = = <0.01 - -
SoLROZDIEEY L 0.2 0.0 0.02 - - 0,02 0.03 - 0,03 = = 0,01 = =
ZOIEE L 0.3 0.03 <0.03 - - <0.03 <0.03 - <0.03 = = <0.03 - -
ZDIEE L 1.0 0.01 <0.01 - - <0.01 <0.01 - <0.01 = = <0.01 - -
ZDIEEN L 200 Al 79 . . 7.9 9.1 . 21 = = 9.4 = =
ZDIEED L 0.05 0,001 <0.001 - - <0.001 <0.001 - £0.001 = - <0.001 - -
v _— L 200 ] [} g 9 10 g 10 i2 i0 10 i3 16
S ES YN 1C: 1) L 300 0.1 416 - - 411 46.5 - 51.6 = = 467 = =
L 500 1 93 = - 98 102 - 109 = = 58 - -
. 0.02 <0.02 - - - - - - = = - - -
0 < < < ] < i < i i < i ]
< < <1 < <1 <1 < <1 <1 1 3 3
0,005 <0.005 - - <0.005 - - £0.005 - - <0.005 - -
0.0005 <0.0005 - - - - - - - - -
0.3 0.9 0.7 0.6 1.0 0.6 0.6 0.7 0.6 0.7 0.6 0.7 0.6
0.1 723 7,46 717 7.23 AN .28 738 748 727 7.36. 727 740
- =Rl H2ERL 2ROl H2Erl 22l 2Rl EErl EEEL 2ROl 2Rl 2ROl 2=l
- EIEL 2EEL 2EGL 2Erl 2EaL 2ERL 2ROl 2EEL 2EGL 2ErL 2ERL 2Erl
0.5 <0.5 <05 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <05 <0.5 <0.5 <0.5
0.1 <0.1 <0.1 <0.1 <01 <01 <01 <01 <0.1 <0.1 <0.1 <0.1 <01
001 052 078 0.44 0.30 0.64 048 052 054 058 072 0.46 054
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- SR R SR pE] L] pE ] LN B pEN] R eI pE ]
= 202174/19 | 2021/5/10_| 2021/6/10_| 2021/7/5._ | 2021/8/3. | 2021/976. | 2021/10/21| 202171178 | 2021/12/6_| 2022/1/11 | 2022/2/1 | 2022/3/7
= = 10:10 9:10 10:10 9:30 10:20 9:30 10:20 9:35 10:00 9:50 10:10 4
- = BEn [ E 8 B BEh. B 74 [ 551 i
= = 15.5 21.0 29.1 28.4 19,0 18.2 1.5 1.2 5.9
= = 17.3 716 30.1 583 223 17.8 11.9 8.7 71
1 cfu/mL 100 0 0 0 1 0 0 1 1 1] 0
2 BRESNENS — ArEH T TEEH TrEt NEd T FEH
3 me/L 0,003 0.0003 <0.0003 = = = <0.0003 - =
4 me/L 0.0005 0.00005 <0.00005 = = - - = - = = =
5 me/L 0.0 0.00 <0.00 = = <6.00 £0.00 = £6.60 = = =
5 me/L 0.0 0.00 <0.00 = = <0.00 £0.00 = £0.00 = = =
7 me/L 0.0 0.00 <0.00 = = <0.00 £0.00 = £0.00 = = =
g me/L 0.0 0 <0.00 = = <0.007 £0.00 = £0.00 = = -
me/L 0,04 0.004 0,004 0,004 <0.004 <0.004 <0.004 <0.004 <0.004 <6.004 <0.004 <0.004
me/L 0.01 0,001 £0.001 - - <0001 = = <0.001 = = =
me/L i 0.2 1.31 147 1.36 1.36 128 166 1.44 139 123 1,09
me/L 0.8 0.08 £0.08 £0.08 £0.08 £0,08 £0.08 £0.08 £0.08 £0.08 <0.08 <0.08
me/L 1.0 0.1 <0 - - <0.1 <0.1 - <0.1 - - -
me/L 0.002 0.0002 <0,0002 = = £0.0002 = = $0,0002 z = =
1577 4—‘/2“##;; me/L 0.05 0,005 <0005 = = <0.005 = = <0.005 z =
vA—=1,2—v780TFL2
16 | 2 78S 2 —1 2 SAOAT meg/L 0.04 0.004 <0.004 <0.004 <0.004 !
IADZI=1=¥L D) L 0.0 0.007 0,00 = = <6.002 - = £6.60 = <0, = =
18 rTrZ700IF LY L 0.0 0 <0.00 = = <0.00 - = £0.00 = < = =
19N 00IF LY L 0.0 0 <0.00 = = <0.00 - = £0.00 = <0, = =
L 0.0 0 £0.00 = = <000 - = £0.00 = <0, = -
5 L 0,6 0,06 <006 £0.08 0,06 £0.08 0.07 0.07 0,08 6 0,086, <0.06
prys]a]i: L 0.02 £0,002 - - <0,002 - - 0,003 - - <0,002 - -
VERDIs[=E WA L 0.06 0,002 = = 0,007 = = 0,003 z = <0,001 = =
S HOOREER L 0,03 <0,003 = = <0,003 = = <0.003 = = <0,003 = =
S OEOHAEY L. 0.1 0.001 = = 0,002 = = 0,002 z = 0,001 = =
L 0,01 £0.001 = = <0001 = = <0001 = = <0,001 = =
L 0.1 0,005 = = 0015 = = 0,008 z = 0.003 = =
i3 L 003 <0,003 = = <0,003 = = <0.003 = = <0,003 = =
20E0500045Y L. 0.03 0,002 = = 0,005 = = 0,003 z = 0,001 = =
JOERILL L 0.0 <0001 = = <0,001 = = <0.001 = = <0.001 = =
LT IVTER L 0.0 0 <0008 = = <0,008 - = 0,008 z = <0.008 = =
VZQIEEY L 1.0 0.0 0.0 = = <00 <001 = 0.0 = = <00 = =
SO LROZDIEEY L 0.2 0.0 0.0 = = <00 £0.01 = £0.0 = = <00 = =
PR L 0.3 0.03 <003 = = <0.03 <0.03 = £0.03 = = £0.03 = =
ZDIEE L 1.0 0.01 <0.01 = = 0,01 <001 = <0.01 = = <001 = =
ZDIEEN L 200 Al 5.1 . . b4 5.6 . 58 = = 5.6 = =
ZDIEEM L 0.05 0.001 £0.001 = = <0001 £0.001 = <0.001 = = <0.001 = =
V] o L 200 2 5 5 5 5 5 6 6 6 6 5 6
IR REEE) L 300 0.1 475 = = 46,6 'y ) = 493 = = 450 = =
L 500 1 93 = = 92 94 = 84 z = 69 = =
. 0.02 £0.02 = = = = = - = = = = -
0 < <i < < < <i < <i < < < <i
< <1 <1 < < <1 < <1 <1 < <1 <1
0,005 0,005 = = <0005 = = <0.005 = = <0.005 - -
0.0005 <0,0005 = = = = = - = = - = =
0.3 0.3 0.4 <03 05 <03 0.3 063 0.3 0.4 0.3 0.3 03
0.1 745 722 7,63 759 7,59 751 765 732 751 .48 "7.36 747
- 2ROl H2ERL 2ROl H2Erl 22l 2Rl EErl EEEL 2ROl 2Rl 2ROl 2=l
- 2EIL 2EEL EELL 2Erl 2EaL 2ERL 2ROl 2EEL 2EGL 2ErL 2ERL 2Erl
05 <05 <05 0.6 <05 <05 <05 <05 <05 <05 <05 <05 <05
0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
0.01 0.84 056 0.64 046 0.60 062 0.64 078 082 078 070 076




bk IEiG kiR

= o yE
# il = REZEHEDR
HE% HEME TRiE Iz 58 65 77 87 9 108 117 125 ;] 253 37
- iz T iz T iz T 2 T iz T iz
= 2021/4719"|2021/5/10 | 2021/6710_ | 2021/7/5. | 2021/8/3. | 20217976 | 2021710721 | 2021/1178 | 2021/12/6. | 2022/1711 | 2022/5/1 | 5022/371
- - 9:10 9:35 9:10 15:28 9:30 8:50 9:30 8:50 10:20 9:00 9:30 9:10
- = B iE4 A, i G BEA. A, i5A [ =Y i
= = 12.1 21.0 299 259 16.0 15.1 705 8.6 3.1
= = 13.0 175 255 540 16.7 17.9 12.5 76 54
T ofu/mL 100 0 0 0 0 0 0 4 1 0 0 0
2 BRESNENS — ArEH T TEEH TrEt N T T T FEH T,
3 me/L 0,003 0.0003 <0.0003 = = = $0.0003 = <0.0003 = =
4 me/L 0.0005 0.00005 <0,00005 = = = - = - < = = = =
5 me/L 0.0 0.00 <0.00 = = <0.00 0,00 = £06.00 z = <0.00 = =
5 me/L 0.0 0.00 <0.00 = = <0.00 <0.00 = <0.00 z = <0.00 = =
7 me/L 0.0 0.00 <0.00 = = <0.00 <0.00 = <0.00 z = <000 = =
g me/L 0.0 0 <0.00 = = <0.007 <0.00 = <0.00 = = <000 = -
me/L 0,04 0.004 0,004 <0004 0,004 <0.004 0,004 <0004 0,004 <0004 0,004 <000 <0004 <0:004
me/L 0.01 0,001 <0.001 - - <0001 = = 0,001 = = <0.00 -
me/L i 0.2 2.46 243 550 2.31 5.16 207 2.28 259 559 2.58 550 2,40
me/L 0.8 0.08 <0.08 <008 <0.08 0,09 0,09 0.10 0.09 0.08 <0.08 <0.08 <0.08
me/L 1.0 0.1 <0.1 - - <0.1 <0.1 = <0.1 = - -
me/L 0.002 0.0002 <0.0002 = = £0.0002 = = $0,0002 z = = =
1577 4—‘/2“##;; me/L 0.05 0,005 <0005 = = <0.005 = = <0,005 z = =
vA—=1,2—v780TFL2
168|570 =42 1 o ohnaT meg/L 0.04 0.004 <0.004 <0.004 <0.004
IADZI=1=¥L D) L 0.0 0.007 0,00 = = 0,007 = = 06,00 z = 0. = =
18 TRZ700TF LY L 0.0 0 <0.00 = = <0.00 = = <0.00 z = 0 = =
lrzanizle C 00 ; 000 - E o : E 000 E - 00 E E
5 L 0,6 0.31 0.22 0.23 0.24 0.25 0.9 0.28 0.36 0.21 0.15 0.8 0.21
prys]a]i: L 0.02 £0,002 = = 0,002 = = 0,002 = = 0.002 = =
VERDIs[=E WA L 0.06 0,004 = = 0.00 = = 0,005 z = 0.003 = =
LY DD s u] (37 ] L 0,03 0,003 = = 0.003 = = 0,003 z = <0,003 = =
S OEOHAEY L 0.1 0,003 = = 0.006 = = 0.006 z = 0.003 = =
L 0,01 0.001 = = 0,001 = = 0.001 z = <0001 = =
L 0.1 0,012 = = 0,022 = = 0,018 z = 0.010 = =
i3 L 003 0,003 = = <0,003 = = 0,003 z = <0,003 = =
J0ESHOOARY L 0.03 0,004 = = 0,008 = = 0,006 z = 0.003 = =
JOERILL L 0.0 <0001 = = <0.001 = = 0,001 z = <0001 = =
LT IVTER L 0.0 0.00 <0008 = = <0,008 = = <0,008 z = <0,008 = =
VZQIEEY L 1.0 0.0 0.0 = = <00 <001 = 0.0 z = <00 = =
SO LROZDIEEY L 0.2 0.0 0.0 = = <00 <001 = 0.0 z = <00 = =
PR L 0.3 0.03 <003 = = <0.03 <0.03 = £0.03 z = <003 = =
ZDIEE L 1.0 0.01 £0.01 = = <001 <001 = <001 z = <001 = =
ZDIEEN L 200 0.1 6.3 . . 6.9 6.6 = 6.8 = = 6.4 = =
ZDIEEN L 0.05 0.001 £0.001 = = <0.001 £0.001 = £0.001 = = <0001 = =
V] o L 200 2 8 8 b 8 8 8 8 8 9 9 0 i0
IR REEE) L 300 0.1 65.3 = = 62.4 64.6 = 613 = = 69.0 = =
L 500 1 24 = = 131 129 = 121 z = 121 = =
. 0.02 £0.02 = = = = = = = = = = =
0 < <i < < < <i < <i < < < <i
< <1 <1 < < <1 < <1 <1 < <1 <1
0,005 0,005 = = <0005 = = 0,005 = = <0.005 = =
0.0005 <0,0005 = = = = = - = = = = =
0.3 0.4 0.5 0.4 0.6 0.3 0.5 0.4 0.3 0.4 0.4 0.3 03
0.1 7 54 T4 754 7563 Wy 756 759 748 iy .56 iy 754
- 2ROl H2ERL 2ROl H2Erl 22l 2Rl EErl EEEL 2ROl 2Rl 2ROl 2=l
- 2EIL 2EEL 2EGL 2Erl 2EaL 2ERL 2ROl 2EEL 2EGL H2ERL 2ERL 2Erl
0.5 <05 <05 <05 <05 <05 <05 0.6 <05 <05 06 <05 <05
0.1 <01 <0.1 <01 <0.1 <0.1 <0.1 <01 <0.1 <0.1 <0.1 <01 <0.1
0.01 051 080 052 051 0.60 046 040 054 074 078 0.84 082




